Catch Me If You Can....

Summarize the activity. Include what you did (procedures) & learned
{conclusions):

The clays was divded up tato af‘asslaopp&fs 1 hzam(_g‘l emd havks
The ﬂmsslqofpe,ws STLar'ILu{ 57 Couéoﬁ‘nj “pt‘oducems" (Ffoﬂl ’0°f3>. T"“M,
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Place the names of the organisms involved in the activity into the correct spot in the table.

You should include the froot loops, grasshoppers, lizards, and hawks!

Producer Herbivore Carnivore
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hawlcs

NOW, Compare the differences between the columns (How do producers, herbivores, and
carnivores differ?) PWO[MCW)’ ﬂ&{’ their enel 9y "Q/‘Om Hae Sun , The
ﬂrmsl/wfpu,s eat Proalucers (P[&MQ for energy, |izards eaf jm”{"
for eNneviyY, and hawks eat lizands for enery y,

THEN, compare organisms in the same column. How are they the same or different?

~ HWlﬁS M llL’e:w»AS are both carnivores, TL\@‘Z are lOo'H1 ‘ConSumeyrs.
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Record the number or animals still alive at the end of the activity. Tell if each animal is a
herbivore, carnivore, omnivore in this activity. '

Grasshoppers: 3 YVorins
Lizards: ____ MR
Hawks: , o4
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Catch Me If You Can....

onclusions: !

1. Why did we have to start with more grasshoppers than lizards?

TF Yhere were Fewer gmss"\oﬁpws, then the lizards would

5‘\'QFV\‘L . The %rc*”\“"l’f‘” are ___.._.....e’low ’H’\(, i 2ards wn Ye CV\e.rJ7
pV{MWVWl . Therefore I ﬂ'\c‘] have wiore ptoimass (morcof 'H'mm)
2. Why doesn't anything eat the hawks? ’

T\\au) arec ﬂ'\& _I‘U‘!“l‘ar? Cons uvmers c:u\o{ ‘HAe ‘f‘vlo ofF ‘Hm_
-Peoal cl/\odvx /an37 lotfm,m“w/.

3. What effect does energy transfer (10%) have on the length of a food chain?
Enara‘)ul me As‘Fc‘r (in/\,{‘l‘r ‘H«c [enb H\ o g “H\e, ‘(jbod th,fn‘
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4. What would happen to the “dead” grasshoppers?

Eog\‘c,ﬂfrl«ml wold tezasber 10% o8 Haeir “6Mr(jy" 15 e lizard,
The ones Hhat starved b death would decvmpéSc’.

5. Which food source (producers or consumers) would provide more energy for an
omnivore?

Prootu(,(/j loC/Cau.r& H/w,(c are QWW 614{;/347 {"f‘ansp&r‘s,
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6. SUMMARIZE what you learned about how energy gets transferred from one organism to
another through the food chain.

~ Producers transfer 107 of Hieir energq + the F"'\Mw‘j
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